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11. 1’s complement of 1111 is:

a. 0011 b. 1100
c. 0000 d. None of these

12. How many bits are required in the address part of an instruction to address a memory
size of 4096 x 16?7
a. 12 b. 10
c. 8 d. 9

13. Which of the following is not a part of the CPU?
a. Slorage unit b. Arithmetic Logic Unit
¢. Program unit d. Control unit

14. A flip-flop can store;
a. 1 bitof data b. 2 bits of data
¢. 3 bits of data d. 4 bits of data

15.  Which one of the following is a characteristic of CISC?
a. Fixed format instruction b. Variable format instruction
¢. Instruction is executed by hardware d. None of thes:

16. 2's complement of 101010 is:
a. 010101 b. 111111
<. 101001 d. 010110

/17/111'.1 compuler data transfer takes place between two devices:
a. CPU and memory b. CPU and I/O devices
<. Memory and I/O devices d. All of these
ﬁrocessor of all computers, whether micro, mini, or mainframe must have:

a. ALU b. Primary storage
<. Control unit d. All of these

~ In micro programmed control unit, control words are stored in a separate memory is
ealled i i,

a. RAM b. ROM

¢. Micro memory d. Control memory
/ZG/DT magnetic disks, concentric circles on each surface are called.............

a. Blocks b. Sectors

¢ Tracks d. Pages
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6.

[ Answer question no,1 & any four (4) from the rest |

What do you mean by control unit? Explain hardwired control unit
with block diagram.

What do you mean by assembly language program? What is an
assembler? Write an assembly language program to subtract (wo
numbers.

Whatis pipelining? Discuss with an example. Explain instruction
pipelining.

swplain primary memory, secondary memory and cache memory. Stale
w hat type of memory is used for each of these memories.

xplain:

Program initiated 1/0
b} Interrupt initiated 1/0
c) DNA

What do you mean by computer instruction? Explain the basic computer
instruction formal.

\What do you mean by bus? What are the different ly pes of buses that a
processor has? Explain PCI bus.

What do you mean by instruction cycle? Write the characleristics of
RISC and CISC.

Marks: 50

34710

2+2+6=10

2444410

7+3=10

J+3e4=10

3+7-10

2+1+7=10

2+8=10
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